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Average value of a sinusoidal current is of the maximum current.

(a) 67.3% (b) 63.7% (c) 32.7% (d) 36.3%

When a series RLC circuit is in resonance, then the current is and impedance is
(a) maximum, maximum (b) maximum, minimum

(¢) minimum, maximum (d) minimum, minimum

For a choke coil, current is always the voltage.

(a) lagging (b) leading (c) in same phase with(d) unrelated to

Three 50 Q resistors are connected in star across 400 V, 3-phase supply. If one of the resistor
is disconnected, then the line current will be

(a) 8+/3A (b) 8/73A (c) 4A | (d) 8 A

A circuit, when connected to a 200 V mains, takes a current of 20 A, leading the voltage by
one twelfth of time period. The circuit resistance is
(a) 2002 (b) 17.32Q (c) 10Q (d) 8.66 Q

A coil takes a current of 6 A, when connected to 24 V DC supply. To obtain same current
with a 50 Hz AC supply, the voltage required was 30 V. Inductance and power factor will
be

(@) 3Q,08(lag) (b) 6Q,08(ag)  (c) 3Q,06(ag)  (d) 6, 0.6 (lag)

Reciprocal of Reluctance in a magnetic circuit is
(a) Resistance (b) Permeance (¢) Admittance (d) Conductance

If the coefficient of coupling between two coils is increased, then the mutual inductance
between the coils
(a) remains same (b) is increased (c) 1is decreased (d) cannot say

No load current in a transformer

(a) lags behind the applied voltage by 90°

(b) leads the applied voltage by 90°

(c) lags behind the applied voltage by an angle less than 90°
(d) leads the applied voltage by an angle less than 90°

Which of the following has the highest efficiency ?

(a) DC shunt motor (b) Transformer

(c) Induction Motor (d) Synchronous Motor

Which of the following connections is best suited for a 3-phase, 4-wire service ?
(a) Y-Y (b) A-A (c) A-Y (d Y-A
Which motor should not be started at no load ?

(a) Single phase induction motor (b) DC Shunt motor

(c¢) Reluctance motor (d) DC series motor

In Induction Motor, the length of air gap is kept as small as possible in order to have
(a) low hysteresis loss (b) low eddy current loss
(c) high power factor (d) low power factor
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Teh SITEshI (sinusoidal) 9T o TTT, 37iEd U 3ok STfIehad &Ry o WH 1 g |

(a) 67.3% (b) 63.7% (c) 32.7% (d) 36.3%

?%Qgﬁ guft RLC uRaer STA1E § 81T 8, 79 398 9 T IfdeTe (impedance)
|

(a) 3feremam, 3rferepan (b) 3TTrehaH, =Eaw

(c) —IIaH, JATerhad (d) =IFaH, =LIaH

TS ik Heoit § 9T guen fava | B2 |

(a) TTEH (b) ST (c) TR % I (d) TEEfa

50 Q o fetie R H 400 V, 3-%st 3M9fd & IS 2 | IS T ufetier 61 g1 fean smar 7, @
TS &R B

(a) &3 A (b) 8A3 A (c) 4A (d) 8 A
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AU b 1/12% 91 & e 2 | afay o1 gferie g

(a) 20Q (b) 17.320Q (c) 10Q (d) 8.66Q

Teh Hecft bl 99 24 V ELHY. IIfd A ST AT 8, T TE 6 A G oAl B | THH SR ITH B
%%11150 Hz T.Hl. a@%%m\/ﬁmaﬁwsﬁ% Im(mductance)a?lﬁﬁ

I[UHEI'? (Power Factor) g

(a) 3Q, 0.8 (ITTH) (b) 6, 0.8 (TTTH)

(c) 3 Q,0.6 (ITITHY) (d) 69, 0.6 (FTTH)

Torelt gaehia uftaer | Ufaery &1 okl Bl &

(a) iy (b) TR (c) e (d) =TTl
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(a) .. =0 HIK (b) fomfiE
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In squirrel cage induction motor, the rotor slots are slightly skewed in order to reduce
(a) Windage loss (b) Eddy current loss
(c) Reduce magnetic humming (d) Friction losses

One of the speed control methods of a 3-phase induction motor is
(a) V/fcontrol (b) Ward Leonard control
(c) Core loss control (d) Eddy current control

In three phase induction motor, reversing the supply in two of the phases is done for
(a) pole changing (b) increase the torque(c) control the current (d) plugging

A 3-phase, 400 V, 50 Hz, 4-pole induction motor is fed from a 3-phase supply and its rotor
runs at 1425 rpm. The frequency of rotor emf is
(a) 75Hz (b) 50 Hz (c) SHz (d) 2.5Hz

An under-excited synchronous motor operates at

(a) lagging power factor

(b) unity power factor

(c) leading power factor

(d) lagging power factor at low load and leading power factor at high load

The full pitch of a 3-phase, 36 slots, 36 coils, 6-pole motor is
(a) 9slots (b) 6slots (c) 12slots (d) 18slots

5% increase in supply frequency will change the synchronous speed by
(a) —10% (b) +10% (c) 5% (d) +5%

A 1.5 kW single-phase induction motor is drawing 8 A at 200 V. If the operating power
factor of the motor is 0.9, the power drawn by the motor is

(a) 1.5kW (b) 1.44 kW (c) 1.08 kW (d) 1.35kW

What turns-ratio of a transformer is needed to match 1 kQ source resistance to a 160 Q load ?
(a) 2.5:1 (b) 16:1 (c) 4:1 (d) 25:4

Star-Delta starter of an Induction motor

(a) inserts resistance in rotor circuit (b) inserts resistance in stator circuit

(c) applies reduced voltage to stator (d) applies reduced voltage to rotor

The maximum flux in a transformer is ¢, , when the primary voltage is V and frequency is
f. If primary voltage is 2 V and frequency is /2, the maximum flux will be

(@) 0.5¢,, (b) oy, ©) 2, (d) 49,

In a transformer, the core loss is 100 watts at 40 Hz and 72 watts at 30 Hz, then the hysteresis
loss at 50 Hz will be approximately
(a) 25 watts (b) 105 watts (c) 100 watts (d) 72 watts

A voltmeter gives 60 oscillations per minute, when connected to the rotor of an induction
motor. The stator supply frequency is 50 Hz. The slip of motor is
(a) 2% (b) 1% (c) 4% (d) 5%

Distribution transformers have good all day efficiency due to
(a) lowironloss (b) high copperloss (c) zero copperloss (d) high iron loss
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TR (squirrel) st SROT HIGLH, T 5 | fortt o ot o forl et wfe ot it fowet fepan sman @ 7
(a) fooes =i (b) e & BT

(c) TS T[S ol T T &g (d) =T BT

Frepettar It wve i ife Frzon faferrt & @ wes B

(a) V/f T (b) aTS foTE fawr (¢) R e (d) Wer gy e
Frepetta TT0T AT H, Y B % A I Dl Hal Il &

(a) ¢d e (b) U HITEET () I I AR HLA(d) R

T TRl 400 V, 50 Hz, 4 Uit 31 ST HIeX i Breheftr Smfd & St 2, dt 386kt TeX 1425

rpm TEEAT @ | U fa.31. 511 <61 31t gt

(a) 75Hz (b) 50 Hz (c) 5Hz (d) 2.5Hz
T HE-THTELS qeahrett (Famsnma) miet 1 et 3

(a) ORI SrfeRt TOTTeh W

(b) Tehet fekd TUTTh W

(c) STIATIHY STeRd TOTTeh TX

(d) Te=TTHY TfeRT UM S W WX 3T 31T} rferd Tumeh 311k YR W

s Frehefi™, 36 TAle, 36 HEatt, 6-Uret Hiet 6t quf e 61w g

(a) 9%l (b) 6%die (c) 12%&d1e (d) 18 &die
3 ST § 5% Wfewrd i gfg & Jeashiieres Tid § S&aTd aRT
(a) —10% (b) +10% ©) —5% () +5%

TS 1.5 kW Tohet TR0T IT0T /T 200 V I 8 A o T 7 | AT Hiet 1 hreied Wl umes 0.9 2
Hie g ol h wiferd @
(a) 1.5ThatEic  (b) 1.44 fepetiare (c) 1.08 feretiaie (d) 1.35 fereriaie

1 kQ B Iferlier ITel TR 1 SB-314Td =1 81T, I 39eh1 160 Q YR A firam (3)
fpm TR 2

(@ 2.5:1 (b) 16:1 () 4:1 (d) 25:4
Teh YT0T HIX H WR-Se] WX Y BIdT &, ST <hi9 &1 R HTAT g ?
(a) et ufe H yfeki sie1 e 2 | (b) T fae & yfekiy e e 2 |

() RAT TR AceT B FA B 8 | (d) U H TR e bl T HLT 8 |

Teh AW 1, MU diees V Td SR £ 2 W SAfehad wed ¢ 7 | AfG fis diees
2 V 3R SR £/2 T E ST, TV STIehad Fored s

(@ 059, (®) 9, © 29, (d) 49,

Teh YNOMTHA § 40 Hz W shIgl &1 (core loss) 100 9 9 30 Hz W g g (core loss)

72 |e &, @ 50 Hz W &= g1t (Hysteresis Loss) ST TSR T &I
(a) 25dic (b) 10541 (c) 100dMe (d) 72741

Teh SIT0T HIeX 31 U, AleeHIe d Sie W, 60 Qe i e gufdn 8 | Rt 31 Tqfd i 3gfa
50 Hz M W, HIeX &1 f&d g

(@) 2% (b) 1% ©) 4% ) 5%

ferator grawi 8§ q fo earan ==t Bich 8, it sad grar 8

(b) 3= ATH g (c) T dH &I (d) 3= B B
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28. A conductor of length 100 cm moves at right angle in a uniform field flux density of 1.5
Wb/m? with a velocity of 50 m/s, the emf induced in the conductor will be

(a) 150V (b) 715V (c) 50V (d) 375V
29. If the rotor power output of a 3-phase induction motor is 15 kW, then rotor copper losses at
slip of 4% will be
(a) 700 W (b) 650 W (c) 625W (d) 60 W
30. Interpoles are used in d.c. generator so as to
(a) reduce sparking at brushes (b) limit the current to a safe value
(c) stabilise the voltage (d) raise the voltage with load

31. A 230V/2300 V transformer takes no load current of 5 A at 0.25 power factor lagging. The
core loss is
(a) 300.2 watts (b) 192.5 watts (c) 287.5 watts (d) 212.6 watts

32. A transformer has negative voltage regulation, when its load power factor is
(a) zero (b) unity (c) lagging (d) leading

33. The more dominant harmonic in the magnetising current of a transformer is
(a) 34 (b) 51 (c) 7™ (d) 13t

34. If the field current is decreased in dc shunt motor, the speed of motor
(a) decreases (b) increases (c) remains same (d) None of the above

35. A dc generator without a commutator works as
(a) DC motor (b) DC Generator (c) AC Generator (d) AC motor

36. Damper winding in synchronous motor is used to
(a) provide maximum torque
(b) provide starting torque and prevent hunting
(c) provide only starting torque
(d) only prevent hunting

37. Which of the following material does not have covalent bonds ?

(a) Most of the Metals (b) Organic Polymer
(c) Silicon (d) Diamond
38. Number of atoms per unit cell in FCC structure is
(a) 1 (b) 2 (c) 4 (d) 8
39. Electrical resistance of a semiconductor with rise in temperature.
(a) increases linearly (b) remains constant
(c) decreases (d) increases non-linearly

40. A material with unequal antiparallel atomic magnetic moment is termed as
(a) Ferrite (b) Ferrimagnet
(c) Anti-ferromagnet (d) Non-magnetic

41. If the domain walls in a magnetic material can be easily moved, the material displays
(a) high permeability (b) high flux density
(c) permanent magnetic behaviour (d) temporary magnetic moment
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1.5 Wb/m? < THT ool Bcdl &1 H Th 100 cm TISITS 7oA <ITefeh, $H & & wisad 50 m/s §
| 8 | ITeTeh § 39 Ua fa.a1.9. (emf) 1 99 g

(a) 150V (b) 75V (c) 50V (d) 375V
fe rehefia ST Hiex &1 Uk Wfed HATSTYL 15 kW B T 4% eeta W e amm g1+ gt
(a) 700 W (b) 650 W (c) 625W (d) 60 W
femem St | getdied 1 T HLd &
(a) ST 9K TTeh I H H o foTu (b) ©T I FUfFd UM ek Efira S o forg
(c) Tawa & wefrea = fetu (d) YR (Srg) % @1 fava =l sg & o1
gﬁmowzmova’wﬁﬁt, 0.25 TT=ITTHY STfeRd T0TTeh TR 5 A ShT I W ORI ol & | R g1
(a) 300.2 watts (b) 192.5 watts (c) 287.5 watts (d) 212.6 watts
Teh TR % ToTT FUMTeHe deest U[oIeH BIdT 8, ST6 S8 WK T T[UITeh &idT &
(a) I (b) T (unity) (c) TT=rTHt (d) 3Tt
Teh TG <hl FEaeh O T ShIH |1 §THIeh (harmonic) STET TS BrdT 8 ?
(a) 34 (b) s (c) 7 (d) 13*
Ife <140, vie Wit < &5 U o el fean ST 2 ot wiet o i
(a) =h (b) werft
(c) T9E &t (d) SureRT & F h1E oft T
Teh BRI Uad 2.8, T, TE 1 BT |
(a) S.H. AT (b) .. IR (c) TH. IR (d) T.H. "t
ToTehTel! WIS § SUR aTgfre o1 39T hid &
(a) 3Tferehan et 24 % ford (b) S[EITCA STEOT ¢ 3R BT <Rl Tehet b forl
(c) <hadl ST TVl ¢ o Tt (d) heet BT ol Ueh o ot
T ¥ 8 el § geuas ey T8 gt g ?
(a) AMTRR YT (b) AT U (c) Faferera (d) ¥ (diamond)
FCC &g § Yo I &t § et fohe wer 21 & 72
(a) 1 (b) 2 (c) 4 (d) 8
Q&)“@Tﬂm(semiconductor)ﬁﬁ@ﬂﬂﬁﬁﬂﬂ%ﬂ%%ﬁﬂ
(a) WA FIHTEATE | (b) FeRTE@R |
(c) TeATg | (d) THTETTATGATR |
e Ugrd, fSrEm foh 3mH UAUeTe (antiparallel) Teifires Bfeeh HiHe &, ol el STdT 8
(a) HUE (b) HiFHfes (c) TA-BAMfes  (d) AH-TNfew

. aﬁ@@aﬁaq‘q’ré (magnetic material)ﬁ@ﬁ:[_ol'lﬁ (domain walls) 3TTETHT ﬁ‘c?l;qTrqu, a
ELEHCENIGIE
(a) 3= 9T (high permeability) (b) 3= ®TH U9 (high flux density)
(c) TARI FrIehly FIER (d) ST (temporary) Frarh ITeOl
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42. Bakelite is/was not used in manufacturing of

(a) lamp holders (b) switches (¢) plug sockets (d) transistors
43. ACSR (Aluminium Conductor Steel Reinforced) are used as

(a) overhead transmission lines (b) superconductors

(c) fuse (d) underground cables
44. The Dielectric constant of Air is practically taken as

(a) more than unity (b) unity (c) less than unity (d) zero
45. n-type of semiconductor is an example of

(a) superconductor (b) intrinsic semiconductor

(c) insulator (d) extrinsic semiconductor
46. Gold and Silver are

(a) Dielectric material (b) Insulating material

(c) Low resistivity conducting material ~ (d) Magnetic material

47. The relative permeability of a soft paramagnetic substance is

(a) unity (b) slightly more than unity

(c) zero (d) slightly less than unity
48. For Germanium, forbidden gap is

(a) 0.7eV (b) 0.5eV (c) 0.25eV (d) 0.15eV
49. Resistivity of conductors is most affected by

(a) Voltage (b) Temperature (c) Pressure (d) Current
50. Hysteresis loss least depends on

(a) Frequency (b) Magnetic field intensity

(c) Volume of material (d) Grain orientation of material

51. Hall effect is used in

(a) Galvanometers (b) Ammeters (¢) Transducers (d) Wattmeters
52. is/are used to extract heat from flue gases and use it for heating feed water.
(a) Condenser (b) Economiser (c) Superheater (d) Cooling fans

53. Which of the following is usually not the distribution voltage ?

(a) 6.6kV (b) 33kV (¢) 11kV (d) 132kV
54. Bundled conductors are used to

(a) increase reactance (b) increase corona loss

(c) reduce line length (d) reduce reactance

55. Skin effect in a conductor is increased if
(a) frequency is low. (b) size of conductor is small.
(c) frequency is high. (d) stress on conductor is more.

56. Self-GMD method is used to evaluate
(a) Inductance (b) Capacitance
(c) Both Inductance and Capacitance (d) Resistance

Series-A 8 EEE
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Toraah frmtor § SherTge o1 IWINT T8 BT 2/ ?

(a) 9 Bt (b) &= (c) I Hishe (d) Trf~reed
T T AR, (WWWW)WWWW%

(a) ITERES TEMH AR o T (b) Afe=TeTeh & fotu

(c) I % feru (d) ¥feTa Sheret & fore

9T 1 STg5eifaeeh TRRIh SHTTRING &9 & fon S g |

(a) ThEARH (b)) Th (c) THEHHA (d) =
n-Jh T <hT JTETTeAh T 3R |

(a) 3fcarets (b) AT TS (c) FaTAD (d) T8 e=TAS
T 37 =7 B 7

(a) regd HEfl (b) ek FTA

(c) U ferehdT dTeil eTer amft (d) Jeehr amft

foneht e STgaahi werel <l |met qTaTer B

(a) Th (b) AT IR () I (d) THH S FH
SHfrRm (Germanium) <h1 afsta fas (forbidden gap) g g

(a) 0.7eV (b) 0.5eV (c) 0.25¢eV (d) 0.15eV
Sheaell Sl TfeRIgendl Gad 3T TTfad il &

(a) deead (b) ATHH T (c) @@ (d) g/
%@i’%ﬁmﬁ(Hysteresis Loss)‘élilﬁmﬁﬁ'{‘cﬁ{_cﬁé

(a) ST T (b) TaHI & i drerar T

(c) "ere o TR T (d) e o 3 rffa=me ™

BicT TS ST SUANT BIT &

(a) Neaamied d  (b) wied d (c) rogyed | (d) dfeHdied o

ST SN T T & ST bl THehTerent 3T hig U (feed water) 3l TH i T fera
ST R |

(a) S (b) THHTHTE (c) GHEX (d) e ot
T8 B I |1 AHRI: FEfyse dieds TEi g g 7

(a) 6.6kV (b) 33kV (c) 11kV (d) 132kV
FSA ATeTeh] ohT AT Hd &

(a) wicema (Rug) =1 agM & fore (b) I BT 1 5@ % g

(c) TS <hl TS TTH o fofu (d) wfcrema (Fueds) o1 gem & oy
Teh ATeAeh | b THT9 sigdT & Ife

(a) SR FHAT | (b) =TeTh T THR HH &l |

(c) ST A & | (d) =TeTeh T =H 3ARH 7 |

@ -GMD T J= o o foru o ST 2 |

(a) Jehed (b) e

(c) UTehed TE HTRAT T <h (d) ufeier
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Ferranti effect is experienced on long overhead transmission line, when it is

(a) lightly loaded (b) on full load at 0.8 p.f. lag
(c) on full load at unity p.f. (d) over loaded
In the figure given below, the value of R is
8A R
NV
100 V== 10Q 10Q
(a) 25Q (b) 5.0Q (c) 7.5Q (d) 10.0Q

An alternator is supplying a load of 300 kW at a power factor of 0.6 lagging. If power factor
is raised to unity, how many more kilowatts can alternator supply, for same kVA loading ?
(a) 100 k watts (b) 200 k watts (c) 300 k watts (d) 500 k watts

The insulation level of a 400 kV EHV transmission line is decided on the basis of which of
the following ?

(a) Radio and TV interference (b) Corona inception voltage
(c) Lightening overvoltage (d) Switching overvoltage
Stringing chart is a graph between which of the following ?

(a) Height — Temperature (b) Load — Temperature

(c) Resistance — Temperature (d) Tension — Temperature

What is the reason of electrical energy transmission at high voltage ?

(a) To reduce iron loss (b) To reduce copper loss

(c) To transfer power at high current (d) To reduce hysteresis loss
kVAR is equal to

(a) kW tan ¢ (b) kW sin ¢ (¢) kW cos ¢ (d) kW

The power factor improvement equipment is always placed
(a) at the generating station

(b) near the transformers

(c) near the apparatus responsible for low power factor
(d) near bus bars

Which of the following frequency is not common in low-frequency traction system ?
2
(a) 25 Hz (b) 16 3 Hz (c) 40 Hz (d) None of these

In which of the following models of transmission line, full charging current is assumed to
flow over half of the length of the line ?

(a) nominal - T (b) nominal - (c) equivalent - & (d) medium length line
Damping Torque is provided in

(a) Indicating Instruments (b) Recording Instruments

(c) Integrating Instruments (d) Digital Instruments

Internal Resistance of voltmeter is
(a) zero (b) very small (c) very high (d) infinity
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57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

Teh el FIRII St wrge # S uTE w1 e il 8, S I8
(a) 9gd A IS B 2 |

(b) YOI &TE WX 0. 8 IfeR T0TTeh UR=THY 9T Bt 2 |

(c) YUl &Te W A (unity) TR 70T W T 2 |

(d) =gd Jfereh oAige Bl @

fefeumuia i RFT AR :
8A J}W
100 V—=— 109% %109
(a) 25Q (b) 5.0Q (c) 7.5Q (d 10.0Q

Teh 3, Teh 300 kW o AATE o 0.6 qw=rTH} 1fer Tomieh WX 31TYfd X &1 7 | Afe wfem
TUTTeh T T L (T (unity) T TG T T THH kKVA AT & T 3Teete fohad 3R
fepetraie (k watts) shi STTfd/AATS L Hehall & ?

(a) 100 k watts (b) 200 k watts (c) 300 k watts (d) 500 k watts

=1 5 9 fopmreh STIR W T 400 kV 61 3.7=. 3. (EHV) THTHIH T8 31§59 (insulation)
T fFaifa ferar S ® 2

(a) e 3R A . gehi (b) HRAT $HWA (inception) fawra

(c) gl srfediees (d) Teafam srfereieean

fefiin = (stringing chart) = & @ forreh e T UTH BT R ?

(a) S8 —AIEE  (b) WR — dTHH (c) SfeRig —dmmuE  (d) oHTE — aTaEH
ferega it o1 arferen/3=a fawa T H=nid S HTRTHROR ?

(a) <IE BT A % o foTg (b) T BT A i o forg

(c) 3= TR I I1feRd TUMT=0T o fetw (d) Teedifom =1fa =0 & & fog
kVAR o3 &

(@ kWtan ¢  (b) kWsin b (c) kW cos ¢ (d) kW

(a) ITUTE ohg W (b) TEAHIIE % UTH

(c) oY ITfor T[UTISh &g STRERI UL o UTH(d) &8 ST o I1d
U T o1 et #, Fre 3 & i o saf e e R ¢

(a) 258 (b) 16%%’@3:! (c) 40%H (d) 37 A Ig T
TRYYT TS o 7 1 & forg &9 1 g shi 3meft oiams deh qut =mfehT & <l s/gan o ST | 7
(a) ARFA-T (b) A - 1 (c) FHdH - (d) TET TS i AR
STSHE SFATED! S foham ST 3
(a) T TR H (b) HIUCHE IURN H(c) THTheH Iuhvn | (d) Tefsreat suspon o

. diceHiet 1 JTafeh Sfali gran 8 .
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70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

81.

82.

To extend the range of an ammeter,

(a) put a low resistance in series with it.
(b) put a low resistance in parallel with it.
(c) put a high resistance in series with it.
(d) put a high resistance in parallel with it.

Creeping phenomenon occurs in

(a) Ammeter (b) Voltmeter (c) Wattmeter (d) Energy Meter
measures temperature.

(a) Thermistor (b) Piezoelectric transducer

(c) Photoelectric transducer (d) LVDT

Which of the following instrument has non-uniform scale ?

(a) PMMC type (b) Moving Iron type

(c) Induction type (d) Electrodynamo type

The power of a n-phase circuit can be measured by using a minimum of wattmeters.

(a) n () (n+1)

() (n-1) (d) 2n

Inductive transducers are used in differential configuration so that output is not influenced by

(a) speed (b) pressure change

(c) resistance (d) external magnetic field

In a Dynamometer type wattmeter, pressure coil connected across the load terminal is highly
(a) capacitive (b) inductive (c) resistive (d) conductive

With the increase in intensity of light, the resistance of photovoltaic cell
(a) decreases. (b) increases. (c) remains same. (d) becomes zero.

Role of Swamping Resistor in Moving Coil Meter is to
(a) reduce the frequency error (b) reduce the temperature error
(c) reduce the friction (d) increase the damping

A strain gauge is a/an
(a) inductive transducer (b) capacitive transducer
(c) resistive transducer (d) chemical transducer

In electrodynamic instruments, the operating field is produced by
(a) Fixed Coil (b) Moving Coil (c) Permanent Magnet(d) None of these

Which of the following is most sensitive detector for single frequency value ?
(a) Head phone (b) Oscillator
(c) Vibration Galvanometer (d) Tuned Detector

Hot wire Instruments read
(a) RMS value (b) Peak value (c) Average value (d) Instantaneous value

In an Inductive type meter, maximum torque is produced, when the phase angle between
two fluxes is

(a) 180° (b) 90° (c) 45° (d) 30°
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69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

81.

THTE 1 T F@H % fo1q

(a) Tt afatie Soft 4 Ser ST 2 | (b) T wfeier THT=R (parallel) § ST AT R |
(c) 3= faQier Soft 4 ST ST @ | (d) 3= ITeRIY FHMTR (parallel) H ST AT |
Eﬁﬁ"T(creeping)Eﬁ‘aﬁT@ﬁg{%
(a) T H (b) TeeHE o (c) afeHteTH (d) S
TTIHH AT 2 | ’
(@ @l (b) o ferega gz
(c) I foregd TraegER (d) e,
Fr fe& T3 IuehtoT O © fhew SrEmE T AT | 7
(a) U1.UH.TH.Hl. THR (b) ST ITERA ThR
(c) ST YR (d) FARITSHHT TR
Tsh n-Shell dTel TTCaey | vrferd AT o forw =gaw FieHeti ht TTawIehdl B |
(@) n (b) (n+1) (¢) (n—1) (d) 2n

TEH TSI T JANT STaehet GASHI 8 foha ST 7, dmfer fnfa wfaa = &1
(a) MAFIIEH (b) EEHTGAP T (¢) NI H I Y (d) eI FohIT & &

ST YR & arerfiet ¥ olig i @ S[Et Y9R Feeft (pressure coil) 3Afers gt 8

(a) ®TET (b) I (inductive)

(c) yfeQefar (resistive) (d) =Mk (conductive)

FEANEIRECIR] 5{%’, & 1Y BIeElfcash (photovoltaic) o (cell) =hT Tfetiy

(a) SRATR | (b) SEATR | (c) TR | (d) T ESIER |
tﬂ%i"'[ W "t (Moving Coil Meter) T =it iy (swamping resistor) ! ﬂﬁlﬂ gt 8
(a) ST AfE I FH HA F (b) AT Ffe I HH B H

(c) oYU T HH T (d) Sfom sem o

(a) 3Sfed g (b) Hfafed ZTHIH

(c) SicIef TrergER (d) TERT TESTE

?ﬁ?ﬂ%@l’qﬁﬁ% (electrodynamic)wffﬁﬁ, FATRTET & (operating field) & g 39
|
(a) TR FeeAl  (b) TTaHE FHect (c) Ui g (d) 3T g i oft T

T TR °H o fodl, Frafefied o & % |1 998 Heeeiia fedaet @ ¢

(a) §SHH (b) It (IAERI) () A eaamicx  (d) TS feeaen
B¢ 9T I3 gdl 8
(a) RMS AN OREXIE (c) 3gd A= (d) dTchTfeteh A
. T INUT SR o HieT B 1frehan §io1 31TeUl 3cUH BT & ST g1 ot (flux) % o= % (phase)
10T ETelT

(a) 180° (b) 90° (c) 45° (d) 30°
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83.

84.

8S.

86.

87.

88.

89.

90.

91.

92.

93.

94.

Sphere gaps are used for measurement of
(a) instantaneous values of voltage (b) rms values of voltage
(c) average values of voltage (d) peak values of voltage

Murray—loop test can be used for identification of location of

(a) ground faults in cable (b) short circuit faults in cable
(c) both (a) and (b) (d) None of these

In order to have high accuracy, slide wire of a potentiometer should be
(a) as long as possible (b) as short as possible
(c) as thick as possible (d) None of these

For measurement of mutual inductance, we can use

(a) Anderson’s Bridge (b) Heaviside’s Bridge
(c) Maxwell’s Bridge (d) Schering Bridge
Rectifier Instrument is not free from

(a) Temperature error (b) Wave shape error

(c) Frequency error (d) None of these

A digital linear displacement transducer normally uses

(a) Straight Binary Code (b) BCD
(c) Hexadecimal Code (d) Gray Code
Find V_/V., of following :
.I v

A (1+AB) B (1+AB)
@ T+ap ® A (©) T+AB) 4 3
Transfer function of a system is the Laplace transform of its
(a) Step Response (b) Impulse Response
(c) Frequency Response (d) All of these
High speed alternators use type of rotor.
(a) Salient Pole  (b) Cylindrical (c) Anyone of (a) & (b) (d) None of these

In a 3-phase, 4-wire unbalanced system, the magnitude of zero sequence current is
of the current in neutral wire.
(a) one time (b) three times (c) one third times  (d) half times

If the fault current is 1 kA, the relay setting is 50% and the CT ratio is 400/5, then the plug
setting multiplier will be

(a) 25 (b) 15 (c) 50 (d) 10

The most suitable circuit breaker for short line fault without switching resistor is
(a) Air Blast Circuit Breaker (b) Minimum Oil Circuit Breaker
(c) SF Circuit Breaker (d) Air Break Circuit Breaker
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83. fomm iy (Sphere Gaps)W‘o’q?ﬁ“T & AT | a1 ST B |

(a) dTchlfereh fava A= (b) fava & IR wH.TE. aH

(c) fava & 3iaa am (d) fawa & die (peak) A
84. HI-TH (Murray-loop) Teor f= sht STTg =1 aT o o o2t feharm ST 2

(a) e UTSE Bice (b) e T Hfehe Biee

(c) () (b) &M (d) 37 & RIS oft T

85. ?Tiﬁl%qw ITH i o foT, weh TRt (potentiometer) o TATES (slide) TR =
|
(a) JUEVT AT (b) IATHYE BIET (c) IUTEWT T[T (d) 3T T HI8 off TE

86. UTCEITEh U1 W9 o foTu, EH I X Tehd! &
(a) e st (b) BfEEE st (¢) Ao fsmisr  (d) STt

87. fewerll Suehtor s & Yo TE BN &
(a) ATOHM I (b) WIFHERIE  (c) WA IR (d) 31 A ®IE &

88. T fefeat WY foreeda SagyER, amT=Id: SUNT il &

(a) e arEl i (b) of.EHL . (c) THTSHTA®BIE  (d) THIE

89. TV /V A
.I v,
| B
(1+AB) (1+AB)

@ G+ap)  ® A (©) T+ AB) @ 3
90. Tortlt = T 3TN ®e (Transfer Function) <hl ATeAT™H ‘{I’H‘ﬁﬁ BT R |

(a) U IR (R fadi=a) (b) 31T TR (3ucH faui-)

(c) ST IR (Bhraer feai) (d) o8 =+t

91. el i 9T 3T H Waﬂﬁauﬁm—aﬁﬁj%l
(a) ﬁ%@lﬁj (b) ﬁﬂ%@w
(c) (a) @1 (b)H & IS +f (d) T & HE A&l

92, @ﬁ—ﬂgﬁ:;ﬂﬂﬁ@%ﬁwﬁﬁ,aﬁaﬁaﬁnwww,wwﬁw%w
cal |

(a) T (b) =T (c) T foas T (d) 3TeT T
93. fe el omT 1 kA, ot B 50% B, 3R CT 31397d 400/5 B, A i AfT Aoty g
(a) 25 (b) 15 (c) 50 () 10
94, for feafm uferier &, 7é wre g o foTe, T 3ugeR wfhe SRt 2
(a) T SARL Ffehe St (b) Tafmm stiaet afhe st
(c) SF,Hfehe et (d) TR 5% Hithe ST
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9s.

96.

97.

98.

99.

100.

101.

102.

103.

104.

10S.

106.

107.

108.

Auto-reclosing is used in the case of
(a) Lightning Arrester (b) Air Blast Circuit Breaker
(c) Bulk Oil Circuit Breaker (d) Minimum Oil Circuit Breaker

The resultant transient voltage, which appears across the breaker contacts at the instant of
arc extinction, is called

(a) Restriking voltage (b) Recovery voltage

(c) R.R.R.V. (d) Prospective voltage

The design of insulation for system above 400 kV is based upon

(a) lightning over voltage (b) switching surges

(c) system voltage level (d) system load level

Which of the following is a balanced fault ?

(a) LG fault (b) LL fault (¢) LL G fault (d) LLL G fault
What is the other name of Merz-Price current protection ?

(a) Over current protection (b) Overload protection

(c) Differential protection (d) Distance protection

Which of the following is a voltage restrained over current relay ?

(a) Impedance relay (b) Reactance relay

(c) Mho relay (d) Induction type over current relay
The Breaking capacity of a circuit breaker is usually expressed in terms of

(a) Amperes (b) Volts (c) MW (d) MVA

A certain cable has an insulation of relative permittivity 2. If the insulation is replaced by
one having relative permittivity 4, then new capacitance of cable is as compared to
old capacitance.

(a) doubled (b) halved (c) unchanged (d) three times
The location of lightning arrester is

(a) near the transformer (b) away from the transformer

(c) near the circuit breaker (d) away from the circuit breaker

Which is the most serious problem in vacuum circuit breaker ?

(a) Poor arc quenching (b) Low thermal stability

(c) Current chopping (d) Large size

The Dielectric strength of SFg is that of the Air.

(a) same as (b) 2to 3 times (c) 5to 6times (d) 10 times

The making capacity of circuit breaker is given by following equation :
(a) 1.88 x symmetrical breaking capacity (b) 2.55 x symmetrical breaking capacity
(c) 3.87 x symmetrical breaking capacity (d) 10 x symmetrical breaking capacity

What material is used for manufacturing of brushes in DC motors ?

(a) Graphite (b) Lead (c) Copper (d) Silver

At what angle difference is the main winding and auxiliary winding separated in a split-
phase capacitor start induction motor ?

(a) 45° mechanical (b) 45° electrical (¢) 90° mechanical (d) 90° electrical
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95, 3T W(case)ﬁwmw%l
(a) dfed fads (b) T AR Hfehe sieht
(c) Sooh HTaeT Tihe Feht (d) =aw 3Ataet Gfche s
96. 3TTeh THATCHR o THA, Siehl o hi~cae W fe@ arett, TR &1fores favrer shaetrar @
(a) TEEfr fava (b) T fava (c) INIMAXA. (d) Tefaea fave
97. 400 kV ¥ U i YoTTett 3 fergatie shi fesmea s gt 2
(a) dTEd e dieds W (b) T e ™
(c) YUTTet o Sees olaed W (d) Tt o YR & Sieed X
98. AP A TH AfIA N B ?
(a) LGQW (b) LLTY (¢c) LLGTN (d) LLL G &N
99. TSI-UTSH TR SN hT Gl ATH AT 7
(a) T HiZ TR (b) I AT T
(c) Tew{[Tet (Differential) T (d) fewe=a ieswm
100. =1 ¥ favre fads (Restrained) 3R iz it A & B 2
(a) Sifersmen fret (b) werama fy
(c) i f=t (d) ST 2139 3R hie fet
101. T qiue ferisiep sht e awat dmm=ra: € <t @
(a) TR (b) A H (c) MWH (d) MVAH
102. T had o S i AU TIAGAT 2 7 | AfG 36 4 AU TUSYAT Il SHeI9H § e fean
ST T hael < T T 31 HH U HH 1 g1 §
() T B ST | (b) STTET B ST |
(c) IS AREH &l gRT | (d) o T 8 ST |
103. TSR 3NET 1 TIH BT &
(a) TEHIHL & fehe (b) TFEAREEH T
(c) uftay feornsres & e (d) whay s @ ¢
104. SR Tfehe sioht H T8 it e B
(a) GUE I IET  (b) A dTN fRRAT  (¢) Hie AT (d) FST HATHR
105. SF, i SrEscifage drehd, a1 B2 |
(a) & ST (b) I 2F 3T (c) T 5F 6T (d) T 10 7T
106. @fehe sient shi Ui &wan, fr Tfiertor g & STt 2
(a) 1.88 x Tmfia sifehT v (b) 2.55 x TEA sifehtT &raan
(c) 3.87 x wmfira sifehT e (d) 10 x Tfira sifeh e
107. feg am wiex ® e 51, e vered | s g 8 ‘
(a) TS (b) =18 (c) ™ (d) =ied
108. ?%ﬁz—ﬁméwwwmﬁ,g@aﬁ%nwwaﬁ%nwaﬁnﬁamﬁm
(a) 45°aATHh (b) 45° foza (¢) 90° Itk (d) 90° foza
o I . T TToT




109. What is the voltage characteristic of a differential compound dc motor ?

(a) Exponential  (b) Flat (c) Dropping (d) Rising
110. The earth electrode (Plate or pipe) should be kept

(a) vertical (b) horizontal

(c) Any position does not matter (d) None of these
111. Which gel ensures the dryness of incoming air in breather ?

(a) Potassium gel (b) Silica gel (c) Carbon gel (d) Silver gel
112. In Back-to-Back Test, two transformers should

(a) have matching voltage ratio (b) have center tapping

(c) be identical (d) be connected in series

113. Class-B insulating material can withstand temperature up to

(a) 190 °C (b) 90 °C (c) 105°C (d) 130°C
114. Which of the following IE Rule stands for “Danger Notices” ?

(a) IE Rule 35 (b) IE Rule 30 (c) IE Rule 45 (d) IE Rule 43
115. Which of the following is not a characteristic of a radial distribution system ?

(a) Power flows in one direction only. (b) Highly reliable

(c) Low cost (d) Simple construction

116. In the case of a three core flexible cable, the colour of neutral is

(a) Black (b) Brown (c) Green (d) Blue
117. The current in a transmission line under no-load conditions is due to

(a) Spinning reserve (b) Corona effects

(c) Capacitance of the line (d) Back flow from earth
118. Fleming’s Right Hand rule is used to find the following :

(a) Direction of rotation (b) Direction of flux

(c) Direction of emf (d) Direction of torque

119. Sumpner’s Test is carried out in transformers
(a) mainly to find out the temperature rise on full load
(b) to identify polarity
(c) to find out hysteresis loss
(d) to know maximum load

120. The purpose of an open circuit test in a transformer is
(a) to determine full load copper loss (b) to determine shunt branch parameters
(c) to determine equivalent resistance (d) to determine equivalent reactance

121. The distributors for residential areas are
(a) single phase (b) three phase — three wire
(c) three phase — four wire (d) six phase

122. Which motor is used for power factor improvement ?
(a) Induction motor (b) Under excited synchronous motor
(c) DC series motor (d) Over excited synchronous motor
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109.

110.

111.

112.

113.

114.

115.

116.

117.

118.

119.

120.

T Fiatrensh (fewifrer) rarse <18 diet i dieds Sfemefoes gm
(a) =ATAThH! (TEHAHRTE ) Fehid (b) HHAA JehId I

(c) TTeH Wehid (d) =&d Fehfd 1

Y-3IS (W AT 1) ! T@d &

(a) Seter feufa § (b) aferst fefer

(c) Teufd =1 sh1s rTel &l v (d) T @ H13 Wt 7

e | 3T FTeft 9T <l (5 ST W@ | ShiA 1 St giHfoad sar g ?

(a) TfEm S (b) Taferrr S (c) T oA (d) Toeat e
Seh-g -9 T T, ST TR B =T

(a) TheTan gaT Sees STgUTa (b) T fum aret

(c) forersper Themm (d) ©st & & gu

FATH -1 ST eTef fohd qTomT %k o foTw ST foher STTaT 8 7

(a) 190 °C (b) 90 °C (c) 105°C (d) 130 °C

g asmar IE fem ‘@R H g Ffaw g ¢
(a) IE f=m 35 (b) IE 5= 30 (c) IE fm 45 (d) IE f=rm 43

e O @ e o Weae T yoreht <Al fodwar =8 @ 7
(a) TfoRT Sharet Ueh &1 foum & WaTfad Bt 2 | (b) 3Tcaferes fovamfi=r

(c) A ATTd (d) T fmtor
o I ereiiett Sheret H, =[get I 18T ]
(a) <hTeTT (b) (c) 31 (d) e

o v <Y feafa |, oRwwr @rea | o fordes o A Bl B 7
(a) T (b) SRATIE (c) e BT (d) 9t & wfavams

FATEAT < STe BT oh 1= okt 39T 9 @i o fofu fman Sian 2
(a) oA AIfem  (b) wored i feum (c) faara difenm  (d) seTepi 6 feen

R wteqor aionis § foRem ST @

(a) T&F &9 H 01 YR T A9HM Fhg ST Ia1 R & g
(b) TIATE =T e e o foT

(c) Teifir gmh feprem & fotw

(d) ATUHaT YR FTd HH o fofw

fepet ZrarR T 3 et Tite wer i 1 39 8
(a) YOT YR 9T ATH BT T TRt BT (b) ITE ST YT BT JTeheT BT
(c) Hded vty feifa e o forg (d) THqe fugda feiftd %@ % forg

. JTETE & i fad B 8

(a) Th - (b) Pl - AR (c) Frepelld - IRAR () B: FHel

. SIfeRT T[UTTeh GUTRA B fehd HIeT shT ST fehaT AT R 7

(a) O AR (b) 3T THETELE eI AT
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123. Which of the following is a commonly used material in solar cells ?
(a) Germanium  (b) Silicon (¢) Aluminium (d) Copper

124. Which of the following fuel has lowest calorific value ?

(a) Lignite (b) Petrol (c) Diesel oil (d) Anthracite Coal
125. A tidal barrage is a barrier built over a

(a) River bed (b) River end (c) River start (d) River estuary
126. What does Ozone protect the earth from ?

(a) Sound waves (b) Visible radiation

(c) Harmful UV radiation (d) X-rays

127. Reciprocal of reluctance in a magnetic circuit is
(a) Resistance (b) Permeance (¢) Admittance (d) Conductance

128. Biogas contains mainly
(a) Methane (b) Butane (c) Propane (d) Carbon Dioxide

129. A fuel cell in order to produce electricity burns
(a) Hydrogen (b) Nitrogen (c) Helium (d) Carbon

130. In Energy management system, monitoring and control is done by
(a) MATLAB (b) SCADA (c) AUTOCAD (d) None of these

131. Co-generation refers to
(a) generating power from small multiple power plants
(b) generating power and supplying spare power to grid
(c) electrical power generation and useful heat generation
(d) All of these

132. Which of the following is a bi-directional current device ?

(a) GTO (b) IGBT (c) MOSFET (d) TRIAC
133. The gate of an SCR is with respect to its cathode.
(a) positive (b) at zero potential (c) negative (d) at infinite potential

134. A Diac has

(a) One p-n junction, 2 terminals (b) Three p-n junctions, 2 terminals

(c) Two p-n junctions, 2 terminals (d) Three p-n junctions, 3 terminals
135. AnSCRisa triggered device.

(a) Current (b) Voltage (c) Power (d) Noise

136. To turn off the SCR, which of the following is done ?
(a) Reduce gate voltage to zero. (b) Positive bias the gate.
(c) Reduce anode current to nearly zero. (d) Reduce cathode voltage to zero.

137. The maximum rectification efficiency of a half-wave rectifier is
(a) 88% (b) 81.2% (c) 56.3% (d) 40.5%
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123.

124.

125.

126.

127.

128.

129.

130.

131.

132.

133.

134.

13S.

T 0 O 9o O | STHAR TR 39T H R ST et 9t shia " ?

(a) =M (b) fafere (c) UgHt=m (d) qran

At frasaT I AN Gad HA S 7

(a) fermmse (b) g OREES] (d) TTHES -l

ST ST U ST g3 T BNl B | ,

(a) T (b) <l =T 3d

(c) & T I (d) &l %1 H&MI (estuary)

311 geeft 1 foped ST @ 7

(a) & qH (b) ZTEH fafRor &

(©) B’rﬁsﬁwq\aﬁ%ﬁﬂmﬁ (d) X-rays@

fepelt b1 uftwer o wfowew (Feeieed) 1 gcshv 81l &

(a) iy (b) TRl (THEE) (c) TITIAT (VEHeH) (d) ATethdl (heeddd)
I H 9ET 9 T i

(a) Tud= (b) A (c) 9o (d) TS STEIATFETSS
Terera Seurer < fordl, et Tt SretTa 2

(a) ETESIH (b) ATEISH (c) Biferm (d) wTeH

Teh Soll Yoo ortedt §, Frmft wa s fomen Stran 2

(a) MATLAB® (b) SCADA® (c) AUTOCAD®  (d) 378 8 IS &l

Gg-3cTe 1 AdTs 2

(a) BI-BIS Nk TAAT T Ik IedTE

(b) e IcTEA KT T S g5 Wfer whl firg sl 3mmgfdd sheaT
(c) Torega wiferr SeuTe & SRt S5sAT <61 IaTeH

(d) =g @t
e 4 @ o T fg - festenss am Sushtor 2 7
(a) GTO (b) IGBT (c) MOSFET (d) TRIAC
Teh SCR o1 112, HTE & ATel BaTg |
(a) GTCHSR (b) ¥ fava @ (c) RUTTCHS (d) 3d fava W
Teh ST H BIell & .
(a) T M.TH. oM, q i (b) o H.uH. oM, g il
(c) @ H.TA. SR, € i (d) & .. SR, o i
SCR T fore feamsa (device) 2 |
(a) o (b) v (c) iR (d) X
. SCRI &g i & o, g g srn fpar ST 2 2
(a) e fqva T TR R HE | (b) 71T ! GTHeh fava € |

(c) TAIE 9T &l IR AT A HLG | (d) HUTS fava i gemst I S |

. A —at fewenrl) shi srfrehan fewar (rectification) <&far Bidl 8

(a) 88% (b) 81.2% (c) 56.3% (d) 40.5%
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138. Cycloconverters used in AC motor speed control provide frequency power from

a input frequency power.
(a) wvariable, variable (b) variable, fixed
(c) fixed, fixed (d) fixed, variable
139. The output of SMPS is .
(a) Pulsating DC (b) Voltage sweep (c) AC (d) DC

140. Which one of the following is a quality measure of power output of a power supply ?
(a) Ripple factor (b) Knee voltage (c¢) Regulation (d) Rectification

141. Snubber circuits are used with thyristor for
(a) turning ON SCR at a voltage much less than its forward breakover voltage
(b) protecting the gate circuit
(c) limiting the rate of rise of voltage dV/dt
(d) limiting the rate of rise of current di/dt

142. In electric traction system, Kando system is used for
(a) conversion of 3-phase AC into DC
(b) conversion of 1-phase supply into 3-phase supply
(c) conversion of single phase AC supply into DC
(d) conversion of DC to DC

143. Which of the following method of heating is independent of supply frequency ?
(a) Electric Resistance Heating (b) Eddy Current Heating
(¢) Induction Heating (d) Capacitance Heating

144. Galvanising is coating of
(a) Aluminium (b) Brass (c) Lead (d) Zinc

145. A good heating element should have
(a) low resistivity and low melting point  (b) high resistivity and low melting point
(c) high resistivity and high melting point (d) low resistivity and high melting point

146. For regenerative braking, the motor which is not suitable is

(a) DC Shunt Motor (b) DC Series Motor
(c) DC Compound Motor (d) AC Shunt Motor
147. A solid angle is expressed in terms of
(a) Steradians (b) Radians (c) Degree (d) Radian/Metre

148. Radiant heat emitted from a Black Body is proportional to
(Where T is Absolute Temperature)

(@) T (b) T2 (c) T (d) T
149. Dielectric Heating is used for heating of materials.
(a) Ferrous (b) Non-ferrous (¢) Semiconductor  (d) Insulating

150. The material best suited for manufacturing a fuse is
(a) Silver (b) Copper (¢) Aluminium (d) Zinc

151. Tungsten filament lamp contains
(a) Methane (b) Oxygen (c) Argon (d CO,
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138.

139.

140.

141.

142.

w.Hi. giet i e § Su=e fonam ST oot Egaetieheaet Ye i 8, g wifem,

TN ST Wl F |
(a) =, = (b) =, ;W (c) 3T, 3TN (d) 3=, =
TH.TH. . TH. ST HSTIE (output) BT 8
(a) W@ &,  (b) deed =i (c) TH. (d) St
= 8 @ o1 =, e fersteft 3mmyfid 3 fersteft Seure o1 U HT AT R 7
(a) Toae et (b) T (Knee) fava
(©) i"ﬂﬁﬁl’v{ (d) feraEaEE| (rectification)

ST (snubber) TTCqer ST I AT o TTer fekart <iran @

(a) SCR T 3794 BTE sieh TR forra & 5igd 1 fava W =mey 3 & forg
(b) Tie uftger <t TeaT B

(c) aﬁ%@ra‘ﬁaﬁ—;adwdtﬁaﬁﬁam%m

(d) waﬁq@adl/dtﬁaﬁﬁaw%%q

Terega spedur worreht &, il yoTTedt 2

(a) 9 =T .. 1 E1LEH. ° yitafdd e & fore

(b) T =T HATYf <l T =0T HATYfd H THEfdd s o foig
(c) T =01 Tt 3mgfd i €4 ° ufafad s % forg
(d) S8 €4 4 uiafda & & foe

143. EfT (Heating) <t Fre1 o & o1 =t fafyr, amyfd smafa @ @@ g ¢

(a) forega wfeier €ifem (b) e oy fe

(c) STt Eifem (d) FHufgdm e
144. TeaTefm sifem 8

(a) TAMREEH (b)) I (Brass) Sl  (c) IS (lead) hl (d) & (Zinc)
145. T 7= gifen awd ° gl =1iay

(a) U faUErhd 9 S TeTh (b) = TfIErshdl 9 W T

(c) 3= UfaQErehdT o 3= Te-Th (d) U JiiEehal 9 3= T
146. m AL (regenerative braking) & fore AreT s BERCH] TE R

(a) SL.H. A (b) SE. AR (¢) ELH. FEEs Hiel (d) THL e Hie
147. T HiTeTs I i 07 g0 Tefsid fhan S g

(a) e (b) e (c) feift (d) Aez/dfiex
148. e STS1 g STET <61 T Wfeeie gie et o wamuret Biel € (STef Tshiiede avd ™ T 8)

(@ T (b) T2 (c) T (d) T
149. STESAfaes g e o1 T T B SR H oA ST |

(a) HE (b) AT-%H (c) eI (d) P
150. R foafor <5 fore wd su e .

(a) =it (b) S (Copper)  (c) Tl (d) TS (Zinc)
151. A g v 8 Bt B

(a) Toom (b) ST (c) JATTH (d) co,
o A T TS




152.

153.

154.

155.

156.

157.

158.

159.

160.

161.

162.

163.

164.

With the increase of reverse-bias in a p-n diode, the reverse current
(a) decreases.

(b) increases.

(c) remains constant.

(d) may increase or decrease depending upon doping.

In a semiconductor diode, cut-in voltage is the voltage

(a) up to which the current is zero in forward bias.

(b) up to which the current is very small in forward bias.

(c) at which the current is 10% of maximum rated current in reverse bias.
(d) at which depletion layer is formed.

A transistor connected in a common base configuration has the following readings :
I; =2 mA and I = 20 pA. Find the current gain a.

(a) 0.95 (b) 1.98 (c) 0.98 (d) 0.99
CMRR for an Op-amp should be

(a) as large as possible (b) close to zero

(c) close to unity (d) as small as possible

The Schmitt Trigger circuit is a modification of which of the following multivibrators ?
(a) Universal Multivibrator (b) Astable Multivibrator
(c) Bistable Multivibrator (d) Monostable Multivibrator

The gain of negative feedback amplifier with internal gain A = 100 and feedback fraction
m=0.09 is
(a) 100 (b) 10 () 9 (d 1

Intrinsic concentration of charge carriers in semiconductors varies as
(where T : Absolute Temperature)
(@) T (b) T2 (c) T3? (d T

The reverse saturation current in a Germanium Diode is of the order of
(a) 10 pA (b) 0.01 pA (¢) 1nA (d) 1mA

The Early effect in a Bipolar Junction Transistor (BJT) is caused by
(a) fast turn-on (b) fast turn-off
(c) large collector-base reverse bias (d) large emitter-base forward bias

The approximate ratio of impurity atoms to intrinsic semiconductor atoms in an extrinsic
semiconductor is about

(a) 1:108 (b) 1:1 (c) 1:10 (d) 1:1000

If a three stage amplifier has individual stage gains of 10 dB, 5 dB and 12 dB, then total gain
indB is

(a) 27dB (b) 24dB (c) 14dB (d) 600 dB

Which coupling technique offers best frequency response having minimum interference ?
(a) RC (b) Direct (¢) Transformer (d) None of these
What pin number is assigned for output in IC 741 ?

(a) 4 (b) 5 (c) 6 (d) 7
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152.

153.

154.

158S.

156.

157.

158.

159.

160.

p-n STATE 1 faodid S99 (bias) ST 7, @ foadia am
(a) = (b) el |
(c) FRrw | (d) ¢ I1H Hehell & 1 fob Sifdm vt fsfremedi 2 |

Teh JTLTAh SRS 1 -3 a9 (cut-in voltage) I8 fava gian &, foa m
(a) BT IR | 9T I & AT |

(b) BEE I | G §igd Y & |

(c) Tead s o am, SAfrehdd 18 9T T 10% 8 |

(d) fewefiom o (depletion layer) SR ST T |

Teh T TR formarmd & e gifsreet # ffetiad Gfém e -
I =2 mA 3R I = 20 pA, 9T A9 o 31 7 ST

(a) 0.95 (b) 1.98 (c) 0.98 (d) 0.99

Teh 3TMI-TH (Op-amp) T H.TH.IAR.3TR. (CMRR) BFT A1TEY

(a) TSa=T @vre 81 9eh, 3T 9T (b) I H

(c) T BT (d) TS |wer 81 37T Bl

foirg fom wfte frmferfea o @ form aedtamgsict &1 U T § 7

(a) IHTEA Ao aTssiet (b) LA A ATESI

(c) TERTA FedTEsiet (d) TR TedaTEsiet

TG T A = 100 9 HIgah HawM m = 0.09 ST FUTcHe Hlgsh TATGBRR 1 I g
(a) 100 (b) 10 ) 9 d 1

34'@?-‘2'[ Engaﬁ <61 3Tdieh E’I&?ﬂ (intrinsic concentration) AR ° deeAd] % ELSBEILS
(ST&T THIIE qT9HH T 2)

(@ T (b) T? (c) T3 (d T!
Toroia g 9rT SHMEE SRS ° JTSH EA 2 |

(a) 10 pA (b) 0.01 pA (c) 1nA (d) 1 mA
Togea S 2IfSTeet (BIT) ® 3fie 99Td (Early effect) @ hRUT 1T 3

(a) ST H AT B W (b) o< T §¢ HH W

(c) SISl holdel-a8 Nad I h HRU  (d) SITET SHIT—98 BRI S o HRIT

161. STEAT TTHTY] T ATHIT STUTT STTqReh ITe=Tersh T 8, STel STe=reis U gl &
(a) 1:108 (b) 1:1 (c) 1:10 (d) 1:1000
162. 3fg <fiF =01 TR H, 10 dB, 5 dB 3R 12 dB Y a0 &9 & df dB H $oT a9 8
(a) 27 dB (b) 24 dB (c) 14dB (d) 600 dB
163. g;%wmmwa It JTgfa iR (et faaia) o1 & %7 3Thid & q1Y
?
(a) ST (b) ST (c) FHEBMR (d) &7 & g T
164. 3S.E. 741 H, W &1 O FoR 3118eqe 6 few gren & 2
(a) 4 (b) 5 (c) 6 (d 7
o T - R T TS



165.

166.

167.

168.

169.

170.

171.

172.

173.

174.

175.

176.

An ideal op-amp has

(a) infinite input impedance and infinite output impedance
(b) very low input impedance and very low output impedance
(c) very low input impedance and infinite output impedance
(d) infinite input resistance and zero output impedance

Closed loop gain of following op-amp circuit is given by :

VO

(a) —R/R, (b) +R{R, (c) —R{R, (d) +R{R,

Convert the following :
(2AC5.D);=( )g

(a) 1261.35 (b) 2405.35 (c) 25305.64 (d) 1254.35

The figure of Merit of a logic family is given by

(a) Gain x Bandwidth (b) Propagation delay time x Power dissipation
(c) Fan out x Propagation delay time (d) Noise margin x Power dissipation

Characteristic equation of T-flip flop is

(a) Q"=TQ (b) Q"=TQ () Q"'=TQ+TQ (d) Q" = TQ + TQ
The Octal equivalent of 1100101.001010 is

(a) 145.12 (b) 145.21 (c) 154.12 (d) 624.21

Whose operations are fastest among the following ?

(a) Sequential circuits (b) Combinatorial circuits

(c) Latches (d) Flip flops

Which of the following instructions of 8085 microprocessor, compares memory with
accumulator ?
(&) MOVM,A (b) MVIA, FF (c) CMP M (d) None of these

Which of these 8-bit registers of 8085 microprocessor can be paired together to make a 16-
bit register ?

(a) Accumulator and B register (b) B and D registers

(c¢) C and E registers (d) H and L registers

The computer program, which converts statements written in high level language into object
code is known as
(a) Assembler (b) Compiler (c) Disassembler (d) Operating system

The contents of accumulator in 8085 microprocessor are altered after the execution of the
instruciton

(a) ANISC (b) CMP C (c) CPI3A (d) ORA A
Which type of programming language is typically used to program a PLC ?

(a) Python (b) C++ (c) Java (d) Ladder Logic
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16S.

166.

167.

168.

169.

170.

171.

172.

173.

174.

175.

@mﬁq—@ (op.-amp.)%TiﬁﬁT% o
(a) 3rd $T9E Sfasen (sefed) o 3rd JAseye fdaren (3figa)
(b) g W g4 Tfse (3HHSH) o Sgd A 313eye Tfdsn (34isH)
(c) A A $YE Fferiren (3efed) 9 31q Jr3eye gidsren (3hdy)
(d) 34 g9 Uiy (RTRE) 3 I 31=eqe giaamd (3deH)
T 3ATT - IRaY 1 Felss o4 7 (closed g)op gain) ® :

f

Vie &}\v < +V
Vo ‘\1}\3\, %_OVO
-V

(a) —RyR, (b) +RyR, () —R/R, (d) +RyR,
e i wee
(2AC5.D);s=( )q
(a) 1261.35 (b) 2405.35 (c) 25305.64 (d) 1254.35
Topet oft T Hftreft o1 R 21T Afte gar 2
(a) T X SefaY (b) TER T & T THT X i T 19T
(c) A 3= x JER | <t 1 a5 (d) =TS TR X SfeRd b1 3TIeT™
T foerq et =1 ferarrar oefieptor (characteristic equation) 2
() Q" =TQ (b) Q"=TQ (©) Q*=TQ+TQ (d) Q"=TQ+TQ
1100101 - 001010 ST 3T TG &
(a) 145.12 (b) 145.21 (c) 154.12 (d) 624.21
et 1 @ fopeen demeM TeR A9 § 7
(a) 3TIehiteh THUY (b) EIF (combinatorial) T
(c) o= (d) foera-wra
e o @ B T1 8085 WTSSHISTEER 1 e, HHI hl TRYeTet o |1 ot hidl & ?
(a) MOVM, A  (b) MVIA, FF (c) CMPM (d) 379 9 IS &l
T B B W 8085 HIZSHITIEER 3 8 —Tore TR 31maw # Sirel st 16-fore et s wha & 2

(a) L EIDED (accumulator) 3R B et (b) B 3R D Tt
(c) C 3R EMTEX (d) H 3 L e

Teh HIRIET TIITH, ST 3 WX W17 H for@ 113 el ol STfeaae i (object code) H uft@fda

Hdl 8, HEcATdl &

(a) HISTATh (assembler) (b) HeheTH

(c) ITHISTAH (d) ufETeres gomeft

TR TCeT o TSTEH o ITIT 8085 HTSShISET H TaRIHeIeX hl AT (content) IEA &I STl & ?
(a) ANI5C (b) CMP C (c) CPI3A (d) ORA A

. ?W‘vﬁ (PLC) 1 T i o foTT AR 9 fordt bR b1 e wre bt 3= fema Sirar
?

(a) 9RIYA (Python) (b) C++
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177.

178.

179.

180.

181.

182.

183.

184.

18S.

186.

187.

Thevenin equivalent resistance at AB of following circuit will be :

10Q
A
5Q
10A
5V
o B
(a) 3.33Q (b) 10Q (c) 5Q (d 15Q
If a capacitor is charged by a square wave current source, the voltage across capacitor will be
(a) step function (b) sine wave (c) square wave (d) triangular wave
A capacitor stores energy in
(a) core (b) electromagnetic field
(c) magnetic field (d) electrostatic field
The average emf during positive half cycle of an AC supply of peak value E | is
(@) 2E /n (b) E/n (c) EO/\/En (d) E,A3m
In a star-connected system, the phase angle difference between line and phase voltage is
(a) 120° (b) 90° (c) 60° (d) 30°
If 12 Q resistor draws a current of 1 A in the circuit as shown below, the value of resistance
R will be
1Q R
\r AAA'A%
2A 12Q —_— 6V
1A
(a) 4Q (b) 6Q (c) 8Q (d) 18Q
In a dc circuit, inductor and capacitor respectively behave as
(a) open circuit and short circuit (b) short circuit and open circuit
(c) both elements as short circuit (d) both elements as open circuit

For star-delta transformation, which of the following is true ?
R4 R,
R3
R, Rg TR R R Ry
@ R=R +R,+R ®) R, = R
AT RB T Re C
R, Ry +Ry R-+R-R, R, Ry +Ry R+ R-R,
(©) R, = R (d) R, = R
B A
The phase voltage of a star-connected three phase circuit is 200 V. The line voltage will be
(a) 230V (b) 220V (c) 1732V (d) 3464V
Colour bands for 1.5 Q resistor will be
(a) Brown, Green, Brown (b) Brown, Green, Golden
(c¢) Brown, Golden, Green (d) Brown, Golden, Golden
Average power in LCR circuit depends upon
(a) currentonly (b) emfonly (c) phase difference only (d) All of these
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177.

178.

179.

180.

181.

182.

183.

184.

= o ) wftay =1 ger Aot (Thevelngrg TfeiY, AB o H& B :

A
5Q
10A

[T
°oB

(a) 3.33Q (b) 10Q () 5Q d) 150

?\qﬁ?_&ﬁiﬁqﬁﬁ@wﬁaﬂwh%am@ﬁ(source)gmaﬁﬁﬁ%ﬁmm,aﬁﬁwawﬁa

(a) T (step) Bt (b) HTEH (sine) AT () SHIHR qlT G RELSIEA &

T HUTRA, St i 7 § FEd s &

(a) B (b) Tra-g=ha & (c) =T &= (d) TR 3gd &=
T T aﬁﬁ%ﬁiﬂw R WM E_ 8, 35eh! WN{ed 318 -81$ehdt (half cycle) 3 1. 91.9. (emf)

(@) 2E /n (b) E/n (©) EO/\/En (d) EA3m
@w—aﬁ@gwﬁﬁwaﬁm%m%nwﬁmw (phase angle) <hT W%ﬁﬁT%
(a) 120° (b) 90° (c) 60° (d) 30°

1 a9y T ufmy b, 9fe 12 Qwslrgﬁw 1 %mém%,aﬁuﬁﬁa R &1 09 8T :

\ A AAAY
2A 12Q —_— 6V
1A

(a) 4Q (b) 6Q (c) 8Q (d) 18Q
Teh ST IRy o e UE HeTiet kA e o6 ot Rl

(a) GoAT IRUA TF Y THIA (b) g T T Gl THIA

(c) T T oY INUY hl g (d) GHI T Gol THTe 6l TE

W3R T U h R i d a R g ?

R, R,
R3
R, R R, Rz+Ry R-+R-R,
(a) R,= R 7R, + Ry (b) R,= R
R,R,+R,R.+R.R R,R,+R,R.+R.R

(C) R2= A "B };BC C A (d) R2= A "B %AC C A
185. R haee di %l TR T sl fawa 200 V 8 | 361 o154 fava g :

(a) 230V (b) 220V (c) 1732V (d) 346.4V
186. 1.5 Q faQieres =1 T g MM

(a) 3T, &0, (b) YT, &, 980 (o) U, e, & (d) 9, =T, il
187. LCR 9w # 37tEq siferd v st 8

(a) hael TR T (b) Faet fa.a1.9. (emf) W

(c) hael Bl I T (d) Jgaeft
o DA — T TToT



188. Quality factor (Q) of a Series Resonant Circuit is given by

1 L C 1 [1 R
(a) ﬁ\[@ (b) R\[f © R\/1IC (d) JIC

189. If V=V _ sin wt is the voltage across a capacitor, then the current is

(@ I, /\/5 (b) I sin ot (c) I, sin(wt+n/2) (d) I sin(ot-m/2)
190. A sine wave has a maximum value of 20 V, its value at 135° is
(a) 10V (b) 14.14V (c) 15V (d 5V
191. The form factor of a wave is 1.
(a) Saw Tooth (b) Triangular (c) Sinusoidal (d) Square
192. In a purely resistive circuit, reactive kVAR will be
(a) zero (b) one (c) more than one (d) infinity
193. The maximum power that can be delivered to the load in the circuit below is
3Q 1Q
J_ AAA'A% MMV
9V —|— % 6Q %ﬁ Load
(a) 3W (b) 6 W (c) 6.75W (d) 13.5W
194. In series Resonance circuit, the power factor at resonance is
(a 0 (b) 0.5 (c) 0.707 (d) 1.0

195. At a particular instant, an inductance of 2 H carries a current of 2 A, while the voltage across
itis 1 V. The energy stored in inductor in Joules is

(a) 1 (b) 2 (c) 4 (d) 8
196. Find the voltage of the dependent source in the given circuit.
i 2Q
l AN >t
+ 40V
v “9 40
(a) 8V (b) 12V (c) 6V (d) 16V
197. Internal resistance of an ideal current source is always
(a) unity (b) zero (c) infinity (d) can be any value
198. Kirchhoff’s current law is based on principle of
(a) Conservation of charge (b) Conservation of voltage
(c) Both (a) and (b) (d) Conservation of time

199. The value of v in the given circuit is

b
(a 2V (b)y 12V (c) 2V (d) -12V
200. Under maximum power transfer condition, power transfer efficiency is
(a) 66% (b) 33% (c) 100% (d) 50%
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188.

189.

190.

191.

192.

193.

194.

195.

196.

197.

198.

syoft 3 qig (Series Resonant Circuit) | 31 i feufa o, Fenfordt ﬂUT@ (Q)sh1HE Ul

1 L C 1 [1 R
(a) ﬁ\[@ (b) R\[f © R\/1IC (d) JLC

gfe v= V,, sin mtﬁﬁﬁﬂﬁﬁmﬁﬂa%,?ﬁﬂm@?ﬂ

(@ I, /\/5 (b) I sin ot (c) I, sin(wt+n/2) (d) I sin(ot-mr/2)
Teh TS 0T T SATRIHAH I 20 V 2 | $HHT A 135° T ET
(@) 10V (b) 14.14V () 15V d 5V
T 1 B HeFed 1 BT R |
(a) Y (b) Freprofig (c) HEHREA (d) TR
ush forsrg wicRierss uftay # frefaed (reactive) kVAR &1 M 81T
(a) I (b) TH (c) T 3IH (d) =<
ﬁwﬁﬁnﬁw&qaﬁ,aﬁg(load)aﬁﬁhﬁwmﬁﬁwm@m:
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